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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not compulsory. All

other questions carry 12 marks each.
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Anwer Any Three of the following: 4 Marks Each
a)  Write Short Note on Surrender Value of a Life Assurance Policy.

b)  Briefly discuss about Group Gratuity Scheme.

¢)  Distinguish between ex-dividend and cum-dividend transaction.

d)  Whatare the important elements of system development controls in an EDP system?
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Distinquish Between Any Three of the following: 4 Marks Each
a) Write-Off and Write Back actions in Accounts.

b) Whole Life Policy and Money Back Policy.

c) Revenue Expenditure and Capital Expenditure.

d) Error of Principle and Error of Commission.
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Q.3. Answer any three of the following : 4 Marks Each
a) How we can make Budgetary System effective?

b) Explain importance of Accounting Standards.

c) What are the differences between Trial Balance and Balance Sheet?

d) Write short note on Permanent Account Number (P.AN.) under
Income-Tax Act, 1961.
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Q.4. Answer any Two of the following : 6 Marks Each
a) What are the objectives of Budgetary Control?
b) What do youmean by Financial Statements?

Who are the prominent users of Financial Statement?

c) Write about some of the limitations of Ratio Analysis.
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Q.5. Answerany two of'the following : 6 Marks Each
a) List down the points that Auditor should consider before commencement of audit.

b) Distinguish between autiding in an EDP environment and non-EDP environment.

c) Write short note on Vertical Analysis.
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Write Short Notes on any two of the following : 6 Marks Each

a) Tax Audit.

b) Assessment of Income from Life Insurance Business.

©) Deductions under Section 80 of Income Tax Act, 1961.
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a)  Whatdo you mean by Book-Keeping ? What are the advantages of 4 Marks
Book Keeping ?

b) Write journal entries, with narration, in the books of XYZ Life Insurance 8 Marks

Company Limited.

) Repairs and Maintenance expenditure of Rs.1,00,000/- wrongly debited to
House Property Account.

ii) Outstanidng commision of Rs. 30,000/- to be provided in Books as
at31.03.2010.

i)  Cheque for first premium of Rs. 42,000/- was dishonoured. Bank

charges Rs.600/- for dishonour charges.
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iv)  Interest accruing but not due on investment as at 31.03.2010 is Rs. 40,000/-.
v)  Penalinterest paid to policy holder Rs. 45,000/~ after deducting

income-tax of Rs.4,500/-
vi)  Insurance premium for cars was paid from 01.01.2010t0 31.12.2010is

Rs. 1,50,600. Account for pre-paid expenditure.
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What are the reasons for difference in Balance as per Cash Book and Balance 4 Marks
as per Bank Statement?

Prepare Bank Reconciliation Statement as on 31.01.2011 on the basis of & Marks
following information:

i) Overdraft as per Bank statement as on 31.01.2011: Rupees 15,000/-

i)  Chequesissued on25.01.2011 but presented for payment on 02.02.2011
for Rupees 6,500/-

i)  Cheques deposited on 29.01.2011 were credited on 03.02.2011 for
Rupees 7,500/-

iv)  Cheque issued for Rupees 5,750/- was paid by bank for Rupees 7,550/-
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v)  Short Term Deposit of Rupees 15,000/- matured and credited by
Bank on31.01.2011 was not booked in Cash Book.
vi)  Bank charges of Rupees 250/- debited by bank on 31.01.2011,

not accounted in Cash Book.
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Write the formula and significance of the following ratios

Quick Ratio

Return on Investments
Earning per Share

Price Earngings Ratio

Debt Service Coverage Ratio
Debt Equity Ratio
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1,200
8,000
15,800
9,200
1,330
500
4,200
8,400
19,300
5,100
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12,100
110
4,550
6,200
25,300
22,100
7,02,900
50,750
9,000
7,000
6,37,120
840
1,930
200
170
8,090
88,900
290
4,870
15,000
3,200
8,500
1,310
8,41,730 8,41,730
(9T 1,000 )
1,180
820
11,800
128
170
122
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Q.10.Following Balances are appearing in Moon Insurance Company’s Books as 16 Marks
on31.03.2011. Prepare final accounts as per format prescribed under

Insurance Act, 1938.

(Rupees ‘000)

Debit Credit
Advance Income Tax 1,200
Advnaces to Employees 8,000
Agents’ Balances 15,800
Annuities 9,200
Annuities due but unpaid 1,330
Bonus in Cash 500
Cash and Bank Balances 4,200
Claims by Death 8.400
Claims by Maturity 19,300
Commissionto Agents 5,100
Consideratoin for Annuties 12,100
Cash in Transit Insurance 110
Management Expenses 4,550
Furniture and Fittings 6,200
First Year Premium 25,300
House Property 22,100
Investment in Securities 7,02,900
Interest, Dividend, and Rent 50,750
Loan on Policies 9,000
Loan on Mortgage 7,000
Life Fund 6,37,120
Outstanding Claims - Death 840
Outstanding Claims - Maturity 1,930
Old Outstanding Claims Written Back 200
Profit on Sale of Investments 170
Policy Deposit 8,090
Renewal Premium 88,900
Reinsurance Premium (Ceded) 290
Salaries 4,870
Share Capital 15,000
Sundry Debtors 3,200 .
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Surrenders
Sundry Deposits

Following Adjustments are to be considered

D

Provide depreciation on

House Property

Fumniture and Fittings

Provide for Income Tax

Reserve for Bad & Doubtful Debts
Interest Accrued but Not Due
Outstanding Expenses of Management
Accrued Gratuity

8,500
1,310

8,41,730 8,41,730

(Rupees “000)

1180
820
11,800
128
170
122
205
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